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Note:- You have four choices for each objective type question as A, B, C and D. The choice, which you think, is correct; fill that circle in
front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles will result in zero mark in that
question. Write PAPER CODE, which is printed on this question paper, on the both sides of the Answer Sheet and fill bubbles accordingly,
otherwise the student will beresponsible for the situation. Use of ink remover or white correcting fluid is not allowed

(D) (€) (B) A) QUESTIONS Q-1
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Aethie foeal o nLleiy S £ J}’J/:Lc'. d/)’ u"u’
Between the Outbeyond | An object is placed at the centre of curvature of a
int centre of At the centre
pas ke g the centre of | concave mirror. The image producedby the mirror is
the focal point | ofcurvature | cyramre | located. ]
4 5 2 3 Combi 2
7, ;
Kyzlfu‘; L}’“J/JU’LL/?G&L)JI/-:_ 8 Q
12 Q 8 Q2 4Q 2Q The combined resistance of two identical resistors
connected in series is 8 €. Their combined
resistance in parallel arrangement will be
25 M 219 F Tk Ay iy sl t,,(;‘ﬁ‘f(f ﬁﬂg/_gé_l 4
Electrons Protons Negative ions | Positive ions | The particles emitted from a hot cathode surface are
Joule m Hz Sec The S.I unitof amplitude is -« &4y S.1 (5;:‘&5! 5
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Answor bricfly any Five parts from the followings. 5%2=10 <1/ 7 bz Liable §f c tdits 24 )iy
Define Kil:)watt hour, write formula to convert Electrical energy to U:JJT.L'J)K/ J./'u}g /‘gl ..Zf::..g? /7 d/ /:f'..:,b:{ A
Kilowatt hour. &y ik S
’ Inorder to measure current in a circuit why ammeter is always % f.“/..‘l/ Al ..AZ: Z'.lg/ui'fu( @t fy y-L0 i
connected in series? ?g_b‘lgl/';?ux,( =&}
How many watt-hour are there in 1000 Joules? S sl et Zf o J:Z 1000 .iii
State Lenz’s law. YIS iy
What is difference between step-up and step-down transfont}er? °4_L)/l/ [ //W‘/ujl}u//ﬂu’v/ R4
Define Fission Reaction and write its equation. u“"J ul;l/u( Ul c‘:uf s J u*fi ngﬁ i
Wite the G.-decay process by equation through radium 235R E eSS LG e 22%Radi., i
Wiite difference between Atomic number and mass number. -ufj t)/’ 4 /"' 4] / LU viii
Answor briefly any Five parts from the followings. ~ 5x2=10 /% Fei/ Limiie e 2ititm 3401
Differentiate between loudness and quality of sound. - J (‘: )19 u" l:(ulu* UJ Z30 R
What is the audible frequency range of sound for a normal human ear. St e 74 gny: SO RS 1 BN < i
Write two uses of ultrasound in the field of medical. -u’//fdt”l»di H/lu",végﬁ,w Jii
Differentiate between fixed capacitor and variable capacitor. ..u’/ (‘j I ﬁ.‘-f S a8t /f.‘-'f/ j33 iv
Write two factors which affect the ability ofa capacitor to store charge. ,wa_nuuu JLUL,( ) /7 :Z,/b/ /"c’u“’d J 147} R
Write the name of SI unit of capacitance and define it. -J/J/’ me-«, rt KuJSIZ,J'u/:{ vi
Interms of computer what is meant by hardware and software. -g.:f/gc-/::u’vm/:w Vel J/,t"..{ vii
Define information and communication technology. S S rAuSisnS IS L v
Avswer briefly any Five parts from the followings. ~ 5x2=10  -/./ A=t/ Ly $fe it 4 0
Distinguish mechanical and electromagnetic waves. -Q;J/L/uf Jg:u@'—?‘; }glul JSiSs i
Define the term transverse waves. Give example. -u’:dﬁwl J 5 - /7 J/}J/;Jl/ i
How can the refractive index find, write its unit. _c_l/ u:‘éf..wé/’ (’:1"' J/ uI 4126 Ao il
Describe the principal focus of a convex lens by ray diagram. -u’/ (‘: el A l/bL,u’/ Jf 4 J) 4 L /‘Jr 7w
Differenciate the types of spherical mirror with diagram. _u'/ (‘: lm;ﬂf vio/ {(UIJJ /Jg v
Wirite the two uses of logic gates. - . i/ JWI,;LJJ J U i
NAND gate is the reciprocal of AND gate, Discuss, NS IC SIS 0 5 VRN
Define the term thermionic emission. - 4 - /‘7 J ‘ﬁ'{‘ 1€y 7 viii
i II [
Note: Attempt any Two Questions. 9x2=18 -u’f 4/’ utliéuwr”:,(}f N
5.a. What is meant by e.m.f ? Explain with the help of diagram that  1+3 J/..)Lé:cﬂu Jri/qf;Va:l/ULJl_(»_dl .a.5
how we can measure potential difference in a circuit? “gﬁé/ J k:.J (/’ /;J"“ JURe g L ~ S
b.  Carbon-14 has a half life of 5730 years. How long will it take for the quantity 5 MJ 14~ 8 ~c_Jb 5730& U.Jw/ 14-6 b
of carbon~14 in a sample to drop to one-eight of the initial quantity. ?(y‘/(u»_):w_i Ld.[aﬁ[.f m K145
6.a. Explain the electrostatic Induction with the help of an activity 2+2 (3::“-{1 db)‘bf“" 1 .ﬁ!& oty J fr 31 s /‘gl .a.6
ofplastic and aluminum rod make a lable diagram. -ﬁJ"!f 2 rl/it‘li/slu:/ el
b. A doctor counts 72 heart beats in I min. Calculate the Ui’ y:J J;-+0ff P72 J Jtesl ﬂf.{l .b
frequency and period of the heart beats. -éﬂl” A9t u’“:g /d/

7.a.  Explain the image formation in convex lens with the help of four figures 1x4 2 c,)AJ J(ﬁljlgc)l.h J &5‘2(,( 5 o~ /.JJgi( .a.7
b. The time period of simple pendulum is 2 sec. What will be its length uf L;LJ oSN hq.i:?ZM(f ¢ (‘J,J-,,uv.,{t b
on the earth? What will be its length on the moon? If ,?‘.‘Jnuféyl/.:}%&jl?Jn
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Note:= You have four choices for each objective type question as A, B, C and D. The choice, which you think, is correct; fill that circle in
front of that question number. Use marker or pen to fill the circles. Cutting or filling two or more circles will result in zero mark in that
question. Write PAPER CODE, which is printed on this question paper, on the both sides of the Answer Sheet and fill bubbles accordingly,
otherwise the student will be responsible for the situation. Use of ink remover or white correcting fluid is not allowed

(D) (©) (B) (A) QUESTIONS Q-1
St 2 Igsths S e dedip g |
Sound waves X-rays Radio waves | Lightwaves | Example of mechanical waves is
L (Gt {18 A - QW LRSS smibe P e ulin | 5
Loudness Intensity Quality Pitch The characteristics of sound by which loud and faint
sounds can be distinguished is
R R -L(}ﬂi‘ﬁfd{}iéj// 3
f=T£ f=5 f=R f=2R £\, o -
or mirrors focal length is
10 10°C 10°C 107°c ~gbnalp KA | 4
One micro coulomb charge is equal to
K3 ok Bty VI et Tl L Pl S| s
Thermometer | Galvanometer | Voltmeter Ohm meter | Thelinstrument which is used to measure the current is
o gad%y | gakd | gt L ek s | s
Allofthese | FPotential Chemical | Mechenical D.Glmétor changes electrical energy in to
energy energy energy Ele,
B=0siA=1 | B=lsiA=0 | B=0LA=0 | B=liA=1 Sy v JdXinx=ABS| 7
Ais't'andBis'0’ | AisOandBis't’ | AorBis‘0’ | AandBare‘l’ | If X=A Xis‘l’when
FSH Fih | e | Kot e K| 8
External Extra mail Electronic | Emergency | what does the teith e-mail stands for?
mail mail mail
Aot | 0P8y | Al | i | b R A L S LT | 9
Atomicwmass | ‘Numiberof Atomic Number of | [sotopes are atoms of the same element with different
number proton number electrons
-Lfﬂb’/}&i‘ﬁf!‘vul o"‘il,f)‘d’u,w,vﬂ .10
V=A« vA=f Fd=v vi=4 K i ) s
The relation between v, fand A of a wave is
4580 st IS Skl e Jeipidfy | 1
Water waves | Radiowaves | Lightwaves | Soundwaves | Which is the example of a Longitudinal Waves.
etnG1fs | s 4./«},%/’ g k'JI)Z/’ é}‘f A -4—8’“’4"—&3& Giz Ja/{ 12
Sx Shert é:e’ Real, inverted | Image formed by a camera is
Real, inverted Yirtual, V‘irtual, and
and magnified ‘:;:;tﬁa:: ‘;x::f::ha: : diminshed
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Answer briefly any Five parts from the followings.

—1I

5x2=10

State Ohm’s law and sketch its diagram.’c,l;,ff!/,U./.y/"\fuiﬁéﬂn G

. I£0.5 C charge passes through a wire in 10, then calculate the current.

6.a.

What is meant by term strength of magnetic field.

State Faraday’s Law of electromagnetic induction.
What do you understand by the term “mutual induction”
What is meant by the term isotopes write the isotopes of hydrogen.

Detine the term natural radioactivity. Write the names of radiations.

Answer briefly any Five parts from the followings. 5x2=10

How can some whales communicate hundreds kilometres away?
Write the audible frequency range of Bats and Mice.

Why the voice of women is more shrill than that of men?
How can you avoid explosions due to static electricity?
Draw electric ficld lines for two negative point charges.
What is the differencc between bit and byte?

Write two services of intemet.-(/ e /’ Y yray d/hﬁf;’  £iviid)
Answer briefly any Five parts from the followings. ~ 5%x2=10
State Hooke's law and write its equation.

What is meant by Crest and Trough?

Define damped Oscillation and write its one application.

Differentiate between analogue and digital electronics.

Draw a symbolic diagram for NOR gate and Write its truth table.

State Snell’s Law and write its formula.
Define principle axis and focal length.

What is the difference between Convex and Concave Mirrors.
27\ P 11

Note: Attempt any Two Questions.
Define an electromagnet. Make the Relay switch circuit
and discuss the Electromagnet role in this case.
Half life of a radioactive element is 10 minutes. If the initial
count rate is 368 counts per minute, Find the time by which,
count rate reaches 23 counts per minutes.
Indicate two dangers in use of LC.T in Society. Write two
steps to avoid these dangers.
Two capacitors of capacitances 64 and 12 ,uF are connected in
parallel with a 12V battery. Find the equivalent capacitance of
combination Also find the potential difference across each capacitor.
How to find the magnification of compound microscope by ray diagram explain it?
A simple pendulum completes one vibration in two seconds.

Calculate its length when g = 10m s?

9x2=18
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